
TTIS

q{ (qlf :?oe\elosq
qarft i : fqfa:losclo:nl

qqqtfqz sin qi{+1 ffi aqr n-W h-il{ur Ci erH ga-{r

rqa kwu-tr <ftrqnur qigqrftrorqil srr.q loee//oec wd+J erti6 etriTn :{<Frtr
csF-{r ad e-{qNq ilr erfr sffi e-€ dcr A-{i kr<ur q1-sn ffi ious sr.{ iRrR

cfr-{r+] 1{ rrfr tftrcRoT qig-crffi +er i t, {, q,{ s;i rgr6r tq-+F[dE qqi,"re agr
dqr zrer;i 1,1 ( v +1qrftr vr$-<r wer,ffir src grr ifuq-<, ffis t+-q r

{-crel ura+r s-{dftiq aqr eit sfs-+,r n-fl ilfi +d frqo k+iq q-i TFi6c r(EirA srs
ai{cr -drErfra ra-r qvrqrd{ rri qrfli aq-{ ca-Tcrq-6 o,qo-rcn gfr- k{ rrst}.m a iit
iErrrleFrtrs nqr qryft4 cnercr (Ei6 TrH qr{E{ ra-flu a r

aers
H#t tr*t

t*afl-rttt


